—iin & B IR —In SMRSIEL > S [ bl

EiER DNES8

R BE R
[av ] ESil DAZE BE FELE
R | T [ Er | ey
—WENWES | _ | mEw, mEEEAV750~
SHJ11 e | B[ 1 45 | sasc EEEEs -
O FE: B=0R, FIMEWX.
&/
Mx2 2-C
= R N=Q

3 -B_|
E L <F
0 BE/EE&E/EEE/RMEMEETN/EEDT, BERSHm=REN. AEE: S0
BS R/ANEA M Q Rl ¢
KB Drs L E F B P prizzd priz=
8 [ 0013 | 00 6 3 345638
10 | 005 | 20-800 6~8 (3 45 456 810
12 6~10 |3 4 5 6 56 810 12
13 20~1000 6~11 [3 4 5 6 8 56 810 12 0.5l
15 | oo ORIEE] 6~13 (3 4 5 6 8 10 56 810 12
16 BER 612 [3 4 5 6 8 10 56 810 12 16 B
(DZEHA8) 1258
18 E=2~Px4|F=2~Qx5 8~16 | 4 5 6 8 10 12 56 810 12 16
SHJ11 20~1200 RY
20 @pooy, | 817 | 4568 1012 6 810 12 16 20
25 | 502 FoMesy| 8~22 | 4 5.6 8 10 12 16 810 12 16 20 24
30 9~27 56 8 10 12 16 20 24 810 12 16 20 24 30| | oy
35 201500 9~32 56 8 10 12 16 20 24 10 12 16 20 24 30 ’
A || 2 11~37 6.8 10 12 16 20 24 30 12 16 20 24 30|0.5
50 11~47 6.8 10 12 16 20 24 30 16 20 24 30
| | (] AR (] BN
TFHELRITRAE BEEFTE LC TEIMEL A ®EFTE QC17
AT LC O E/NE70.1 MAF R (QC A F BRI RO R ERIEROAATTRD)
LC ML <3003 & fLs0.03; (QD M%ﬂ?@zﬂ?ﬂﬁ%ﬂﬁﬂﬂ%ﬁﬁﬂ
ﬂj [D] 300<L < 600258 HL +0.05; o Qb
I L6003 8 AL +0.1 1:§ —[45(6 aw 10
12 — 12
IBIRFE BEFT %] SC5 DB V\; v =
AR HEEI5 32 SD12-S8 Tho 8] ° QcOaD() |45 = i 2
@ B/NERI 12 | 10 QC() (IR 20 == 1517 1
SC() 13 | 11 25 —L- - 151720 1
—= QD() 30 [ = 1 720(25 |1
I g HEEN %7 — Tl
i e 720(2530|—
SC() e = 18 | 16 50 — — 720[2530]—|
sD() 20 | 17 Enas A 1.0 [ 15
AN MR FE 25 | 22 O %R, SUEQEEHQC/QD
sDO). v _w 3‘5’ gg 16 O %E8E, Q5QC/QDAEANERR T
40 | 36
50 | 41 2
S()
@ w2 EENEINTRE, ST ERAIER/NER2mm,
[ AENN LRI s = R IE R (.
e @ =N
@ s 5] E F B Pl M Q o =
& B _ _ 0] ® D 3 436 8 > ==
SHIT? [—o | 20SB00 | E=E=Px4 |F=2205| * R et et o _ihi& [ 95% [BERN
WEETI®  SHJ11—D8—L30—E15—F20—B15—P6—M3—Q5 HBUNCT)
@ =nEmnT
PT%%VT L E F B P | M Q AHEMTREB SRESHB
B (0] B> D 3 436 8
SHID }T 205800 | E<2=Px4| FEE0S|  wigmrest [ 68 (34 6] 4 5668 10] > SV

SHJ11—D8—L30—E15—F20—B15—P6—M3—Q5—LC



